
12/10/21

R-1

Stamping

TM

PAGE DATE SERIES DESCRIPTION

R-1 11/04/21 Retaining Components Index

R-2 04/01/21 Discontinued Keeper Blocks For Pads (6 mm Lip M12 Screws)

R-3 04/01/21 Discontinued Keeper Blocks For Pads 
(6 mm Lip M12 Screws) Coding

R-4 04/01/21 R02 Keeper Blocks For Pads (13 mm Lip M16 Screws)

R-5 04/01/21 R02 Keeper Blocks For Pads
(13 mm Lip M16 Screws) Coding

R-6 08/12/97 R11 Self-Lube Cam Gibs (13 mm Lip M12 Screws)

R-7 08/12/97 R12 Self-Lube Cam Gibs (10 mm Lip M16 Screws)

R-8 04/30/14 R21 & R22 Self-Lube Gib Plates

R-9 12/10/21 R32 Spool Type Pad Retainers

R-10 08/12/97 R41 & R43 Pad Retaining Pin

R-11  08/12/97 R42 Pad Standby/Lock Pin

RETAINING
COMPONENTS

INDEX

 © 2021  USCAR This document is uncontrolled when printed.www.naamsstandards.org

R-12 05/10/21 R44 Pad/Binder Control & Retaining - Round Nut
R-13 05/10/21 R44 Pad/Binder Control & Retaining - Threaded Rod
R-14 05/10/21 R44 Pad/Binder Control & Retaining - Tubing
R-15 11/04/21 R44 Pad/Binder Control & Retaining - Assembly (Lower)
R-16 05/10/21 R44 Pad/Binder Control & Retaining - Washer (Lower)
R-17 05/10/21 R44 Pad/Binder Control & Retaining - Assembly (Upper)
R-18 05/10/21 R44 Pad/Binder Control & Retaining - Washer (Upper)
R-19 11/04/21 R44 Pad/Binder Control & Retaining - Rubber Spring (Upper)

R-9.1 12/10/21 R32 Spool Type Pad Retainers Coding



G L O B A L  S TA N D A R D  C O M P O N E N T S

R– 2

Stamping
TM

©1997 Auto/Steel Partnership This document is Uncontrolled when printed.

L

0 16 A B C

12

18

32REF.
13

12 G6
(2) HOLES

0

FOR MI2 SOC. HD.
SCR. (N) HOLES

M10 TAPPED HOLE
FOR PULLOUT
(2) HOLES

GRAPHITE PLUGS
THIS SURFACE

15 MIN.
25

D
16 0.8 R

50

F

H
0

0.
8

0.
8

E±0.025

–A–

0.025

0.8

0.
02

5
A

T

6±0.025
0.025 A//

0.8

6 mm LIP  M12 SCREWS

NOTES & SPECIFICATIONS:
Screw hole locations ± 0.25
Dowel hole locations ± 0.10
Break all sharp edges 0.4 x 45°
Material, steel
Surface harden cross-hatched areas.
Evenly distributed graphite plugs to cover 20-30% of the area that requires lubrication

KEEPER BLOCKS
FOR PADS

(R01 SERIES) 04/01/21

A

B

C

D

DISCONTINUED



G L O B A L  S TA N D A R D  C O M P O N E N T S

R– 3

Stamping
TM

©1997 Auto/Steel Partnership This document is Uncontrolled when printed.

6 mm LIP  M12 SCREWS

KEEPER BLOCKS
FOR PADS CODING

(R01 SERIES)

NAAMS (N) L A B C D E F H
CODE HOLES

R012507 2 75 – – 38 51
R012510 2 100 – – 63 76
R012515 3 150 – 63 113 126
R012520 4 200 63 113 163 176
R013207 2 75 – – 38 51
R013210 2 100 – – 63 76
R013215 3 150 – 63 113 126
R013220 4 200 63 113 163 176
R013707 2 75 – – 38 51
R013710 2 100 – – 63 76
R013715 3 150 – 63 113 126
R013720 4 200 63 113 163 176
R014810 2 100 – – 63 76
R014815 3 150 – 63 113 126
R014820 4 200 63 113 163 176
R014825 4 250 83 153 213 226

25 15 37

32 15 45

37 30 50

48 30 60

 04/01/21

A

DISCONTINUED



G L O B A L  S TA N D A R D  C O M P O N E N T S

R– 4

Stamping
TM

©1997 Auto/Steel Partnership This document is Uncontrolled when printed.

L

0 17 A C E

13

27

49REF.
9

12 G6
(2) HOLES

0

FOR M16 SOC. HD.
SCR. (N) HOLES

GRAPHITE PLUGS
THIS SURFACE

15 MIN. 25

0.8 R

75 REF.

G

H
0

-A-

13D

7

M10 TAPPED HOLE FOR
PULLOUT (2) HOLES

17

B

0.
8

0.
8

0.8

F
± 0.025

62

0.025

0.025 A
T

13 mm LIP  M16 SCREWS

NOTES & SPECIFICATIONS:
Screw hole locations ± 0.25
Dowel hole locations ± 0.10
Break all sharp edges 0.4 x 45°
Material, steel
Surface harden cross-hatched areas.
Evenly distributed graphite plugs to cover 20-30% of the area that requires lubrication

KEEPER BLOCKS
FOR PADS

(R02 SERIES) 04/01/21

A

B



G L O B A L  S TA N D A R D  C O M P O N E N T S

R– 5

Stamping
TM

©1997 Auto/Steel Partnership This document is Uncontrolled when printed.

NAAMS (N) L A B C D E F G H
CODE HOLES

R023510 2 100 – – – 65 74
R023512 3 125 49.5 – – 90 99
R023515 3 150 62 – – 115 124
R023520 4 200 62 – 112 165 174
R023522 5 225 62 99.5 137 190 199
R023525 5 250 62 112 162 215 224
R023530 5 300 62 137 212 265 274
R024010 2 100 – – – 65 74
R024012 3 125 49.5 – – 90 99
R024015 3 150 62 – – 115 124
R024020 4 200 62 – 112 165 174
R024022 5 225 62 99.5 137 190 199
R024025 5 250 62 112 162 215 224
R024030 5 300 62 137 212 265 274
R025010 2 100 – – – 65 74
R025012 3 125 49.5 – – 90 99
R025015 3 150 62 – – 115 124
R025020 4 200 62 – 112 165 174
R025022 5 225 62 99.5 137 190 199
R025025 5 250 62 112 162 215 224
R025030 5 300 62 137 212 265 274
R025510 2 100 – – – 65 74
R025512 3 125 49.5 – – 90 99
R025515 3 150 62 – – 115 124
R025520 4 200 62 – 112 165 174
R025522 5 225 62 99.5 137 190 199
R025525 5 250 62 112 162 215 224
R025530 5 300 62 137 212 265 274
R026510 2 100 – – – 65 74
R026512 3 125 49.5 – – 90 99
R026515 3 150 62 – – 115 124
R026520 4 200 62 – 112 165 174
R026522 5 225 62 99.5 137 190 199
R026525 5 250 62 112 162 215 224
R026530 5 300 62 137 212 265 274
R027510 2 100 – – – 65 74
R027512 3 125 49.5 – – 90 99
R027515 3 150 62 – – 115 124
R027520 4 200 62 – 112 165 174
R027522 5 225 62 99.5 137 190 199
R027525 5 250 62 112 162 215 224
R027530 5 300 62 137 212 265 274

75 45 100

65 45 90

55 35 80

50 30 70

40 25 60

35 25 50

13 mm LIP  M16 SCREWS

KEEPER BLOCKS
FOR PADS CODING

(R02 SERIES) 04/01/21

A



GLOBAL STANDARD COMPONENTS

R– 6

Stamping

TM

©1997 Auto/Steel Partnership This document is Uncontrolled when printed.

 13 mm LIP  M12 SCREWS
FOR M12 SOCKET HEAD

SCREW (N) HOLES
15

D

F

C

AM10 x 1.5 TAP
FOR PULLOUT (2) HOLES

12

E

B

13

∅12 G6
(2) HOLES

L

26

0

0

13
20

25

55 REF

30

60

40
±0.025

0.8 R

GRAPHITE PLUG AND SURFACE
HARDEN  CROSS HATCHED AREAS

0.025

–A–

0.
8

0.8

0.8

0.025 A

43

5

NAAMS A B C D E F L (N)
CODE HOLES

R114016 68 – – 110 123 136 160 3
R114020 88 – – 150 163 176 200 3
R114025 78 – 148 200 213 226 250 4
R114031 78 145.5 213 265 278 291 315 5

NOTES & SPECIFICATIONS:
Screw hole locations ± 0.25
Dowel hole locations ± 0.10

Material, steel

Surface harden cross-hatched areas on steel.

Evenly distributed graphite plugs to cover 20-30% of the area that requires lubrication.

SELF-LUBE CAM GIBS
(R11 SERIES) 08/12/97

A



GLOBAL STANDARD COMPONENTS

R– 7

Stamping

TM

©1997 Auto/Steel Partnership This document is Uncontrolled when printed.

10 mm LIP  M16 SCREWS
FOR M16 SOCKET HEAD

SCREW (N) HOLES

26

M10 x 1.5 TAP
FOR PULLOUT (2) HOLES

16

L

0

75REF

10 20

30

∅16 G6
(2) HOLES

E

B

F

D

C

A

20
4

0

68
100

75
±0.025

0.8 R

0.025

–A–

GRAPHITE PLUG AND
SURFACE HARDEN CROSS HATCHED AREAS

0.025 A

0.8

0.8

0.
8

59

NOTES & SPECIFICATIONS:
Screw hole locations ± 0.25
Dowel hole locations ± 0.10

Material, steel

Surface harden cross-hatched areas.

Evenly distributed graphite plugs to cover 20-30% of the area that requires lubrication.

SELF-LUBE CAM GIBS
(R12 SERIES)  08/12/97

A

NAAMS A B C D E F L (N)
CODE HOLES

R127516 – 64 – 108 124 128 160 3
R127520 – 84 – 148 164 168 200 3
R127525 74 – 144 198 214 218 250 4
R127531 74 142 210 263 279 283 315 5



G L O B A L  S TA N D A R D  C O M P O N E N T S

R– 8

Stamping
TM

©1997 Auto/Steel Partnership This document is Uncontrolled when printed.

20

LDCBA25

W

E

F

0

0

030

GRAPHITE PLUGS
FLAME HARDEN
THISIAREA ONLY

BREAK SHARP
CORNER
1 mm MAX

0.
8

� 17.5 DRILL THRU (N)
HOLES, FOR M16 SOCKET
HEAD CAP SCREW

NOTES & SPECIFICATIONS:
Material, steel

Flame harden wear surface

Tolerance between screw holes ±0.25

Evenly distributed graphite plugs to cover 20-30% of the area that requires lubrication.

When CAM return cylinder is mounted to GIB plate then order GIB plate without screw holes.

SELF-LUBE GIB PLATES
(R21 & R22 SERIES)  04/30/14

NAAMS CODE NAAMS CODE W L (N) A B C D E F
DRILLED UNDRILLED HOLES

R211020 R221020 200 3 100 – – 175
R211025 R221025 250 4 90 – 160 225
R211031 R221031 315 90 158 225 290
R211035 R221035 350 100 175 250 325
R211040 R221040 400 115 200 285 375
R211045 R221045 450 125 225 325 425
R211220 R221220 200 3 100 – – 175
R211225 R221225 250 4 90 – 160 225
R211231 R221231 315 90 158 225 290
R211235 R221235 350 100 175 250 325
R211240 R221240 400 115 200 285 375
R211245 R221245 450 125 225 325 425
R211520 R221520 200 3 100 – – 175
R211525 R221525 250 4 90 – 160 225
R211531 R221531 315 90 158 225 290
R211535 R221535 350 100 175 250 325
R211540 R221540 400 115 200 285 375
R211545 R221545 450 125 225 325 425

565015521

55085001

56031051 5

R210720 R220720 200 3 100 – – 175
R210725 R220725 250 3 125    – – 225
R210731 R220731 315 90 158 225 290
R210735 R220735 350 100 175 250 325
R210740 R220740 400 115 200 285 375
R210745 R220745 450 125 225 325 425

40555 75 

3
A



© 2021  USCAR This document is uncontrolled when printed. R-9

Stamping 12/10/21

www.naamsstandards.org

TMNAAMS
GLOBAL STANDARD COMPONENTSSPOOL TYPE

PAD RETAINERS
(R32 SERIES)

15

"C" THREAD

E

CLEARANCE
HOLE SIZES:

M10=Ø11.0
M16=Ø17.5
M20=Ø22.0

M

R

B+0.00
-0.13

F

D
25

L

A

Z

VIEW IN CIRCLE

4.6

A A

SECTION A - A

0.2

30°

0.5
"E" SOC.
HD. SCR. 4.5°

VIEW Z

3 HARDENED ANTI ROTATION
PINS EQUALLY SPACED OPTIONAL
IN PLACE OF KNURLING

ENLARGED AREA

• Break all edges.
• Mark with NAAMS code and manufacturer’s logo.
• Valid for retaining small pads.
• Socket set screw and socket head cap screw are included in assembly.

MATERIAL: ISO 683/9 44SMn28 - 28-34 HRC, MINIMUM TENSILE STRENGTH OF 950 MPa.

NOTES AND SPECIFICATIONS:



© 2021  USCAR This document is uncontrolled when printed. R-9.1

Stamping 12/10/21

www.naamsstandards.org

TMNAAMS
GLOBAL STANDARD COMPONENTSSPOOL TYPE

PAD RETAINERS
(R32 SERIES)

NAAMS
CODE A B C D E F L ALLOWABLE PAD

WEIGHT PER SPOOL

50 40 M27
x 2

35 M16
x 2

1300 kg

70 60 M36
x 3

40 M20
x 2.5

2600 kg

40 30 M20
x 2.5

32 M10
x 1.5 650 kg

R325030
R325040
R325045
R325050

45 30
55 40
60 45
65 50
75 60
80 65
90 70
90 75
110 90
120 100
130 115
150 130
160 140
180 160
55 40
60 45
65 50
75 60
80 65
90 70
90 75
110 90
120 100
130 115
150 130
160 140
180 160

30 30
R M

35
40
45
50
60
70
80
90

100

35
40
45
50
60
70
80
90

100

0.8 12

1.5 15

1.5 15

R324070
R324080
R324090
R324100

R324040
R324045
R324050
R324060

R324035
R324030

R325060
R325065
R325070
R325075
R325090
R325100
R325115
R325130
R325140
R325160
R327040
R327045
R327050
R327060
R327065
R327070
R327075
R327090
R327100
R327115
R327130
R327140
R327160



GLOBAL STANDARD COMPONENTS

R– 10

Stamping

TM

©1997 Auto/Steel Partnership This document is Uncontrolled when printed.

(R41 & R43 SERIES) 08/12/97

PAD RETAINING PIN

NAAMS PIN SIZE E F G H L
CODE D

R412511 25 22 25 75 17 110
R413513 35 32 30 95 27 130
R415017 50 47 35 135 42 170
R416321 63 60 45 170 55 210

2 x 45°
CHAMFER

M12 x 20

6
F

30°

23 R

E DIA. h11D DIA. d11H DIA.

G

L

SECURING DISC

R430001

NAAMS CODE

NOTES & SPECIFICATIONS:
Material, steel

Washer to be painted safety yellow.

∅12.5 
±0.3

∅32 
±0.3 5

∅14 
±1

90°

NOTES & SPECIFICATIONS:
Tensile strength 965 MPa (140 ksi).
Yield strength 860 MPa (125 ksi).

Break all sharp edges and treat with rust inhibiter oil for shipment.

All dimensions without tolerance stated to be ±0.5

A

B



GLOBAL STANDARD COMPONENTS

R– 11

Stamping

TM

©1997 Auto/Steel Partnership This document is Uncontrolled when printed.

2 x 45°
CHAMFER

M12 x 20

6 F

30°

23 R

E DIA. h11D DIA. d11H DIA.

G

L

6

J

NAAMS PIN SIZE E F G H J L
CODE D

R422513 25 22 25 75 17 20 130
R423515 35 32 30 95 27 25 155
R425020 50 47 35 135 42 30 200
R426325 63 60 45 170 55 40 250

NOTES & SPECIFICATIONS:
Tensile strength 965 MPa. (140 ksi).
Yield strength 860 MPa (125 ksi).

Break all sharp edges and treat with rust inhibiter oil for shipment.

All dimensions without tolerance stated to be ±0.5

PAD STANDBY/LOCK PIN
(R42 SERIES)  08/12/97 A

B



© 2021  USCAR This document is uncontrolled when printed. R-12

Stamping 05/10/21

www.naamsstandards.org

TMNAAMS
GLOBAL STANDARD COMPONENTS

BINDER CONTROL
ROUND NUT

(R44 SERIES)

D1
TAP

Ø D2 E eNAAMS
CODE

R440024
R440036

R440020 M20 75 17 28
M24 90 20 33
M36 105 32 42

D1

e

D2

Ø 10.5

E

2 x 45° 2 x 45°

NOTES & SPECIFICATIONS:
Material:  ISO 683/1-C45
Break all edges
Mark with NAAMS code and Manufacturers Identification



© 2021  USCAR This document is uncontrolled when printed. R-13

Stamping 05/10/21

www.naamsstandards.org

TMNAAMS
GLOBAL STANDARD COMPONENTSBINDER CONTROL & RETAINING

THREADED ROD
(R44 SERIES)

“A” THREADNAAMS
CODE

R442430 - _ _ _
R443640 - _ _ _

M24 x 3.0
M36 x 4.0

LENGTH TO SUIT“A” THREAD

NOTES & SPECIFICATIONS:
Material:  ISO 898-1 Alloy steel quenched and tempered, property class 10.9
Break all edges
Mark with NAAMS code and Manufacturers Identification
Do not weld
Split pin hole for round nut is pre-drilled
Drill “ØC” split pin hole on rubber spring end at assembly

B

ØC

B ØC

10
10

5.6
6.9

(LENGTH IN WHOLE mm)



© 2021  USCAR This document is uncontrolled when printed. R-14

Stamping 05/10/21

www.naamsstandards.org

TMNAAMS
GLOBAL STANDARD COMPONENTSBINDER CONTROL & RETAINING

TUBING
(R44 SERIES)

LENGTH TO SUIT

“A” +0.1/-0.0 DIA. O.D.
“B” +0.2/-0.0 DIA. I.D.

THREADED
      ROD

ØA ØBNAAMS
CODE

R443525 - _ _ _
R445036 - _ _ _

M24 x 3.0 35 25
M36 x 4.0 50 36.8

NOTES & SPECIFICATIONS:
Material:  Steel tubing ISO 7604/2-TS5 or ISO 3305
Break all edges
Mark with NAAMS code and Manufacturers Identification

(LENGTH IN WHOLE mm)



© 2021  USCAR This document is uncontrolled when printed. R-15

Stamping 11/04/21

www.naamsstandards.org

TMNAAMS
GLOBAL STANDARD COMPONENTS

LOWER BINDER CONTROL & RETAINING
ASSEMBLY

(R44 SERIES)

ØA x 80 F.L. SPRING
O.D.

COMPRESSED
SPRING O.D.

WASHER
O.D.

BINDER WEIGHT
PER SPRING (kg)

80 100 125 580
100 125 150 1000
125 160 190 1865

BINDER IN
OPEN POSITION

BINDER
TRAVEL

ROUND NUT

STEEL TUBING X LENGHT TO SUIT

Ø25 CLEARANCE HOLE

Ø40 CLEARANCE HOLE

25 MINIMUM
PAST NUT
FOR SAFETY

ACCESS
CORE

FLAT WASHER - LOWER
 (R440125) FOR Ø80 SPRING
 (R440150) FOR Ø100 SPRING
 (R440190) FOR Ø125 SPRING

ØA X 80 FREE LENGTH
FIBER BELTED RUBBER SPRING

M24 X 3.0 SLOTTED CASTELATED NUT
 (F922430B)

50 MINIMUM

M10 x 1.5 x 40 LONG SHCS

5 MIN.

5 x 40 SPLIT PIN
(F9305050)

M24 X 3.0 THREADED ROD X LENGTH TO SUIT
 (R442430-_ _ _)

(R440024)

M24 X 3.0 SLOTTED CASTELATED NUT
 (F922430B) 5 x 40 SPLIT PIN

(F9305050)

(F011014B)

(R443525-_ _ _)

 (S518080) FOR Ø80 SPRING
 (S511080) FOR Ø100 SPRING
 (S511280) FOR Ø125 SPRING



© 2021  USCAR This document is uncontrolled when printed. R-16

Stamping 05/10/21

www.naamsstandards.org

TMNAAMS
GLOBAL STANDARD COMPONENTS

BINDER CONTROL
FLAT WASHER (LOWER)

(R44 SERIES)

O.D. WASHER

125
150
190

O.D.
WASHER

(SEE CHART)

6
26 DIA.
DRILL THRU

NAMMS
CODE

R440125
R440150
R440190

NOTES & SPECIFICATIONS:
Material:  ISO 683/18-C20
Break all edges
Mark with NAAMS code and Manufacturers Identification



© 2021  USCAR This document is uncontrolled when printed. R-17

Stamping 05/10/21

www.naamsstandards.org

TMNAAMS
GLOBAL STANDARD COMPONENTS

UPPER BINDER CONTROL & RETAINING
ASSEMBLY

(R44 SERIES)

MAX. PAD/BINDER
WEIGHT (Kg.)

1000
2000
4000
6000
8000

THREADED
ROD
M24
M24
M24
M36
M36

HANGING
BOLTS REQ.

4
6
8
8

10

ØB
25
25
25
37
37

ØC
40
40
40
56
56

CAPACITY CHART - HANGING BOLTS ONLY (NO RETAINER PINS)

50 MINIMUM
ØC

ØB
THREADED ROD X LENGTH TO SUIT

STEEL TUBING x LENGTH TO SUIT

SLOTTED CASTELLATED HEX NUT

FLAT WASHER - UPPER

ROUND NUT

80 FREE LENGTH FIBER
BELTED RUBBER SPRING

SLOTED CASTELLATED HEX NUTM10 X 1.5 X 40 LONG SCHS
(F011014B)

5 x 40 SPLIT PIN for M24 ROD - (F9305050)
6.3 x 63 SPLIT PIN for M36 ROD - (F9306363)

M24 x 3.0 - (F922430B)
M36 x 4.0 - (F923640B)

(R442430-_ _ _) for M24 ROD
(R443640-_ _ _) for M36 ROD

M24 x 3.0 - (R440024)
M36 x 4.0 - (R440036)

(R443525-_ _ _) for M24 ROD
(R445036-_ _ _) for M36 ROD

(R44080080) for M24 ROD
(R44100080) for M36 ROD

5 x 40 SPLIT PIN for M24 ROD - (F9305050)
6.3 x 63 SPLIT PIN for M36 ROD - (F9306363)

M24 x 3.0 - (F922430B)
M36 x 4.0 - (F923640B)

(R449026) for M24 ROD
(R441138) for M36 ROD



© 2021  USCAR This document is uncontrolled when printed. R-18

Stamping 05/10/21

www.naamsstandards.org

TMNAAMS
GLOBAL STANDARD COMPONENTS

 BINDER CONTROL & RETAINING
FLAT WASHER (UPPER)

(R44 SERIES)

NAMMS CODE

R441138
R449026

O.D.
WASHER

(SEE CHART)

15
“A” DIA.
DRILL THRU

O.D. WASHER
90
110

ØA
26
38

NOTES & SPECIFICATIONS:
Material:  ISO 683/18-C20
Break all edges
Mark with NAAMS code and Manufacturers Identification



© 2021  USCAR This document is uncontrolled when printed. R-19

Stamping 11/04/21

www.naamsstandards.org

TMNAAMS
GLOBAL STANDARD COMPONENTS BINDER CONTROL & RETAINING

RUBBER SPRING (UPPER)
(R44 SERIES)

A-A-

24 STROKE

56 MIN.
COMP.

LENGTH

80 ±1.0
FREE

LENGTH

COMP. DIA.

0.8

O.D. I.D.

O.D.
Ø80

Ø100

I.D.
Ø36
Ø51

COMP DIA.
Ø98

Ø122

NOTES & SPECIFICATIONS:
Material:  Manufacturers Choice
Made from S518080 and S511080 with a larger center hole.

NAAMS CODE
R44080080
R44100080




